Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

EQUATION

A mathematical statement that uses an eua

sian (5) 16 ghow tha Zexwe&swns Are _equ

SOLVING
oot sy

any equations include a variable. To solve an equation means to
find the value of the variable that makes the equation true. Solve the
equations below using mental math. Explain by checking your answer.

Equation Solution Why?
1. x-2=7 X=0 A-2="]
2. b+k=8 k=172 +2°%
3. 9=w45 w=4 q=4y+5
4.  10=p-3 0=13 0= (3-3

5. 2=8-a 0=0 229l

INVERSE
OPERATIONS

The equations above are called one-step equations and can also be
solved using inverse operations. Inverse operations undo each other,
Examples of inverse operations:

[_Addition ) == (Subtaction )
(Mutiplication ) 4= (Division )

Steps to solve a one-step equation using inverse operations:

O | Locate the variable.

@ | Determine the operation tied to the variable.

@ | Use inverse operations on both sides of the equal sign to solve.

© | Check your solution!

SOLVING
EQUATIONS
i addieon,

Addition Property of Equality: When you add the same number to both
sides of an equation, the two sides remain equal.

4, x-3=4 7. 15=k-8
B3 18
E 71-3=4 F—fﬁ’“ _
L*:l-f‘/ ES" 2\3—9
5= 15"
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8. n-10=4
+10 4|0

n=14

4-10 =4}
q: l—' v

9. 27=¢c-9

+9 19
27=3b_q
271=21Y

Subtraction Property of Equality: When you subtract the same number
from both sides of an equation, the two sides remain equal.

SOLVING 10 x+5=16 11. 13=9+r
~5 -5 -q -9
EQUATIONS —"““"E —:@T
‘U‘%W‘/@% H15=10 13=9+4
=1V {3 =13V
12. 15=3+m 13. w+6=34
-3 -3 - ~b
Tz=m w= 2%
; 167 8+12 2840 =34
[5=15v/ 24 =34V
_ 14. n-8=6 15. a+9=17
+3 48 -4 -9
MIXED n=14 N A=9
oo § M A
=LV 17211V
SuwhtSoctsty
16, 14+2=16 17. 7=k-13
44 -4 #3113
1272 442216 =K 122012
HI:“J\/ 1"’7‘/
18. f-13=16 19. 25=16+r
+13 +13 172nl"
f=129 29-13 =14 Azv )
. o =1V’ 2621L19
2625V
20. y+18=51 21.9=h-7
-18 -Ig 1] 11
V=33 A3tg=s| | |lb=h Qell-T
51=81v q=9v
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ONE-STEP EQUATIONS MAZE!

(WM@%&%MM@%)
Directions: Solve and check each equation. Use your solutions to navigate through the maze.
18+k =42 4=t-4 y-6=13
1% -8 @ Mo ) Yo+ Eﬂ&i
=24 =t y=19 ©
@ 40 9 12 %35% 25
1:6g p-|:33 14+¢c=25 f+8=16 30=n-5
- - ~1 +5
19 AL I u | 35 T
\S:P ¢=1l 35=nN
B T o~ e
y-10=15 14=y-1 h-7=23 LE_7
1 11 xro=
0 HO | 55 38 16 -5 -5
V:Zg h“‘30 :l
1IN @ 13 1o 39 15 @
4=15 9=n+3 28=d-9 13=p-4
2 @ 232 | R
7=10 L=N =p
B A N B
39=m-18 44+ x=36 3+k=14 a+14=18
1y 4R 40 7 32 -3 3 4 -1y
571=m k=11 o=+
36 20 6 /@/ 19 ()
21=y+15 13=r-7 1+h=29 y=14=15
e | 1T | 4 | e
r=20 N=29
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Name:

Date:

Per.

Unit 5: Equations & Inequalities

Homework 1: Solving One-Step Equations

{using addifion/subtraction)

Directions: Determine whether the given value is a solution to the equation.

1. k+19=5% £=32

2 16=x-27,x=43

3. 28=-m=17, m=9

32%19 = 5| b= Y43- 27 23 -9=17
51=8] v = 1b v 197 17
NS Nes No
4. y+19=27,y=8 5. 19=p+3; p=22 6. 4+r=15 r=11
R+19 =21 9= 2243 Y4l =IS
=71V 19 # 25 15 =18 V
NS No Nes
Directions: Solve each equation using inverse operations. Check your solution.
7. a-8=9 8. v+13=15 9. 16=n—24
'I'% .).g ‘B '8 4-7,4 'f'Z"}
el ed
= | = f=n]
a=171 143215
9=9v -y 1o =HO-24
1=V
10. c-9=16 M. 11+k=18 12, 15=w-7
+9 +9 491 -1 +7 1]
26-921p H¥T1=18 15=22-7
13. g-38=13 14. 27=16+x 15, y-9=24
+38 138 - -l +2 +9
o
g =5l 5!,3% _—;8
\2215v Z1= b+ 339724
271=21V 24 =24
16. r+5=14 17. 15=m+11 18. a-9=32
-5 ~5 - =l +9 +9
$=4+l 0=
Q4+5=1y ‘15:|5\]/ Hl-9=32
j=14v 32=32A4
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Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

SOLVING

EQUATIONS
wif ol fcat o,

Muttiplication Property of Equality: When you multiply both sides of an
equation by the same number, the two sides remain equal.

X k
13--§=9.3 2.1\-ﬁ=5-l|
M 21 .q g\GSS!
3 §_§.;5
0=/ !
5=5V
T g.o_C,
& 27l #2-2.¢
=R
HZ e
b 1= @
-}7’7\/ 2-;.2\/

Division Property of Equality: When you divide both sides of an equation
by the same number, the two sides remain equal.

SOLVING [ &-2¢ 5
L z
EQUATIONS @ —
ot digseon Ly =24 10m 208
245241/ 3():-30\/
7. 8n=8 8. 63-7p
? 9 Bl
h=) q-= '
91)=g P 032(4)
S=gV L3=b3V
,?.%:7 7] 10. 4@5;_:_21
o =
WWE%@M% | M .- 48 29Le)
206'\7% 7z L}gsqg‘/
"1:"}«/
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CHECKING
SOLUTIONS

1. 3c=27 Sz
5 12. 12:5 2
3(9=12) 12=21
21=21 122127
13:X-3 .5 14.36=5%y
5 9 9
V=15 4=y
s =3 3b33bV
3:3\/
181429 .4 16. 5p=40
) s S
’|.|; 84 i
w s(g) =40
1y=i4v Ho=Hov
17. 34=2w 1.7 a0
22 182 =1 g
= =+
34=207) #:”
=34V
Determine whether the given value is a solution to the equation.
21. 7p=84; p=12 22, 6-%. 4218
102 =84 —3,?{
<Y =g4 Vv b= :3—
NS b=t v Nes
: k 24, 42=3m;m=14
23. = =24,k=78 ' ’
3 Hz= 3014
2= H2=H2 v
2 424 No ¢S
25. 16x:80$x=5 26 228;0——-]0
lb(5) =80 2
%D =Q0 vV 1;(}:
Yes 549 No
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WHY DID THE CAT SIT ON THE COMPUTER?

Directions: Solve each equation. Show all work on a separate sheet of paper.

Find matching answers within each set, One will have a letter and the other a number,

Write the letter in the matching numbered box af the bottom of the page.

x-15=21

x+4=13

12=7+x

x—15=45

30=x+16

8
54 =9a
4=8

4
10a=20

k+7=061

13+k=14

X=3l 7. 3x=15

=9 x_
10. >=9

=5 21. 2=§
¥=bD |15 sx=72
X:”"“ 3 X =5

=2 12. a+13=20
D=0 16. 11=a+9
O =l 13. a-4=20

0= 14. 20=a+14

K= 9 §=6
k=8 2. 32=4k

m=4g
M=15 |8 12=m+s8
=y |4 s5-m-1s
M=30  |20. m-4=9
M=2% |18 26=m+11
M=12 |11, m-12-18

ANSWER:
o. [ I [ [z
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Name:

Date:

Per:

Unit 5: Equations & Inequadilities

Homework 2: Solving One-Step Equations

(using multiplication/division)

Directions: Determine whether the given value is a solution to the equation.

X o 2. 17k=5%k=3 3.78=8p; p=9
1. 2=28x=116
W n(z) =si e =804)
—‘q’ﬂ‘? 5126] v LEAL
29%18 No NS No
4.24=%;4-92 5. ¥ o4 w23 8. 162=48;z=3
Yoz 7 () = H¢
2= Z - g =4 V
24423 Nb 4= v NES \es
Directions: Solve each equation using inverse operations. Check your solution.
£x_10 g 8. 7v=14 9. 30="5p
"8 g s 5
‘—'X’% @ ‘L,:é I
8-%9::0 1(2)=14 30 =5(¢)
Y, )L[:)'-}\/ 30 =30V
9. _r 11. 12m=460 ‘-],_c_z__ .
10.°3=5 .9 TR 12k2=3 4
171=r m=5 0=z
27 ()0 12 .
\.7)' 9 [00:@\/ 4 3
33V 3=3 v
18 57=37 P Tk
3 3 14.66.b 1542213 .7
9= _ =
f 3,7 K=4)
57=3019) b= 3
51=51Y b (.":‘L:g
\0:{0‘/ \3:8/
16. 6h=84 2¢_1n . 18, 117=9s
< T | 17¢ 5_10 2 e
h=14 C=2D 3 =S
b L1)=8Y
. 20 _ N=a(Q)
1D =iov]
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

MIXED
One-Step
EQUATIONS

Use inverse operations and the propetties of equality to solve each

equation. Check each solution.

1. 4x=28 2. 25=k+12
g 9 -2 -12
B=F
4(1)=zg 25=13+12
2e=2¢v 26 5258V
s 4. v-14=5
3'53""2 5 414 +4
:‘O 0 _ V:lq I"Hq:S
5 2 5§=5v
222
5 12=7+m 6. 16=8p
i T T
5= _ 7=
12=T+s5 P b =%(2)
[2=12v l=lbv
b, W 8 l+a=7
7. 7*6 Y - __,
H2=w [0 ]
"':;._.(.z: H’tﬂz-’
1=V
1=
9. g—4=21 10. én=72
+ 4 © L
25'4:2, h= 12 buz):—lz
2l=2Uv 12270
4, c_ 12. 18=5-35
it 135 435
L=l 52=8
%’L: 2] 18=53-35
e/ 1£=18
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TRANSLATING
One-Step
EQUATIONS

*KEY WORDSFOR =
RS
equals
eSilts in

Translate each equation using a variable, then solve to the right.

13. “The sum of a number and 7 is 16.” Solve:
Nt 1=1b
1 =lo Bt =
n=9
R
14. "24 equals the product of a number Solve:
and 8. 2,,} =9 N
= - €
724 = 3n 3
3=N
15. "14 decreased from a number is 59." Solve:
n-14 =59
n-m =59 At +1Y
n="7173
14. "The quotient of a number and 7 is 8.” Solve:
N
—"',.]
N=so
17. “A number increased by 9 resulis in 14." Solve
n—+9 :)Lf Nn+9 =1y
-9 -9
n=5
18. "27 is the difference of a number and 6.” | Soive:
2)=n - 21=h-b
+b Tb
\ 33=n|
19. "3 times a number equals 72." Solve:
3N =12 SN="T2
3 3
[n=24]
20. "A number divided by 5is 15." Solve:

n

= =5

5. =)5.5

© Gina Wilson (All Things Algebra®, LLC), 2019




410Z (D71 @iy sBuly] §v) UOSIM DUID &

iaN3 [y 9§
b _°
: © vs=/|b o
Nz
f+ h+
e[ o
Sl=A
&I+ z
N‘ @H y N e
QN = M\
L
L - c .Nl sTH ST+ “N..m; I.N...ﬁ.i
Sg|=6z-m pg|=| 0N o
=L =7 hz=7
&~ g 2 3 g1+ 81+
¢ |l+x=0] (¢ hz| =78 778177 RIS

"PUS 8y} Yonsi NoA |Ijun oB80d oy} yBnoyy Yo M "W [qoud (xau 8y} Ul up|q 8y} ul jji o} wsjgoid snolasid oy}
Wof JIomsup INoA asn aebod sy ybnoayl NOA apIinB Of SMOLID 8y} 8SN "UCHDNDS Yoo SAJ0S [suoldaiqg

594md e SNOLLYNDA dILS-INO



Name:

Date:

Per:

Unit §: Equations & Inequailities

Homework 3: Solving One-Step Equations
{all operations)

Directions: Solve each equation. Check all solutions.

1. x~-3=8 2.35=5m T2 15 .4
+3 13 [ s 5 4
X=11] l .\?’5 1=m
270 8% 3525(7) 8,
3535/ ! 122120/
4. 23=r-14 2. w 6. 19=6+k
5. —=14.2
4+ 2 -~
37=r W= 23 2=k
23>37-4 ?22;;4 19=0+3
23= [9=19v1
il 1Yz
7. 6n=60 8 s+6=23 A a
To‘ _6‘ — t” —b 9- 5 - "é' ’ q
n=10 $=11 1-}5 A
— ET N+b=23 5__1—{_5_
UO :UD\/ :—23./ 2
23 5z=85v
10. v-35=17 11. 3¢=78 12. 52=2z+16
+35 +35 3 3 -1 b
S2-35=n 3(2L) =73
17=Nv 18 =78V]
Directions: Translate each equation, then solve. Show all work on the back of this paper.
Words Equation Solution
13. “9 subtracted from a number is 40" n .¢O{ - L}O V\"——'—Hm}
14. “3 equals the quotient of a number and 54." 3 = g:l n= ] L2
18. “The total of a number and 7 is 25.” n ,\_", =25 N= ,g
16. "40is the product of a number and 4.” L_} D= 1_} N Nn=10
17. “A number divided by 8s 9." lg_ =q n=172
18. “The difference of a number and 2is 15." h -7 = ]5 n= r'[

© Gina Wilson {All Things Algebra®, LLC), 2019



Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

RATIONAL
Eauaey

Recall the steps below to solve a one-step equation:

@ | Locate the variable.

@ | Determine the operation fied {o the variable.

0 Use inverse operations on both sides of the equal sign to solve.

0 Check your solution!

SET1:

Equations
with Decimals

Solve each equation. Check all solutions.

1. x+7.8=1523 2. 30.58=w-2913
-1.8 -7.% +2913 +2.913
7.43478=162 30.68=3344812.913
(5.23°16.23 3058°30.58V
3. r—52.7=29.38 4. 2.5k=62
+52.7 15271 2.5 2.5
(?:?2.08 I\(:ZL}.X’
§2:08 521 2.5(24D)=2
2‘7-38;25-88\/ (IZJUJZ,\/
0.2): n 6. 40=0.08p
5138=" (1.2 P =R
7 ) 0.0% 6.08
‘qol.f%(a:h’ ]50@:(){ ‘
age W3 H0=D.o3(s0)
T Ho =+b
I3.¢=13.9

Translate each equation, then solve.

7. "16.8 subtracted from o number is
70.03.”

n-i.8 =70.03
+lo-.g Tlb.8

[h= 3,283 |

8."The g

16.65
uwﬁ

{78V

uotient of a number and
is 3.8."

= 3.8 - (1b-&S)

N

= (gz.zv[

© Gina Wilson {All Things Algebra®, LL.C), 2019



SET 2:

Equations
with Fractions

Solve each equation. Check all solutions.

3 1 4
9. x—o =1 AL 10. 4+ p=22
7073 2% % g stP=%3 2
+3. 43 oy L sy 22 i .
> 1o gegv| ef 7 L25=2
— © © 2%=24 v
X720 ‘ q]
iy
7= 25|
1 f—-l§=6% 12, 7%:“%
_F - A :__'_3 g.L_'é,_(o%: $s N | -S?J}ﬂjf
+l(i % 2T 1 \z Ty ErAd
6 U b3l g -15
L 18 =
- 23
il 3 125 _o (c’:_g—%—
— - J 2!
f=3%32 24 |~ 24
2 6_15 b 5 1
135 e — = — = . 2= = 1=
m 545 14. v ]6 12
Doyt -3 4
z 2 e _ 1 2% g1y
W\_"}"_ v q Lo
1z 5.5 1Zz=l3]v
H4 \;:2%

Translate each equation, then solve.

21 5 5 4
15. Fa=15 J‘( #) - 16.5§zw7~k
} ==
_ s 3 21160 4, 55=%49
Ol ki _5,:_5-//‘1 q 1 k S?Q.:i_ﬁ(.
12 iz 1S oy a -9
0=y _
95 =k

5.2 . —
S Sh"gO .S

17. "Two-fifths of a number is 30."

Z o
2 zth= |3
2 4= 13
ihi’}f)) 3TN 3
2 .z
32 =
h= %34

13
¥

~N

© Gina Wilsen {A
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WHAT DID THE OCEAN SAY TO THE BEACH?

Directions: Solve each equation. Show all work on a separate sheet of paper.
Find matching answers within each set. One will have a letter and the other a number.
Write the letter in the matching numbered box at the bottom of the page.

x+11.95=30.55
x
. —=745
N 48
E. 3575=13x
. 98+x=1415

U  x-209=746]

H. 10.54=409+x

X

252
G. 27.46=x-158

=0.95

A. 825=0.4x

4.

15.

7.

12.

7.

17.

11.

4x =258
2191=x+8.16

X -015
124

x—-672=17.22

X
0.28

P85 et
2.2

=154.5

32.98 =3.4x

x—228=1296

3.8x=16.53

WAy E

b |

© Gina Wilson (All Things Algebra®, LLC}, 2019




Name:

Date:

Unit 5: Equations & Inequalifies

?er:

Homework 4: One-Step Rational Equations

Directions: Solve each equation. Show your work and check your solution.

1. p+7.058 =213 2.04x=2138
-7.058 -7-058 od o.d
!{;= 14.242 |x=54.5 |
' 1,242+ 1,058 213 04(545) '_Z’f
21.3=21.34 21-8=218
3.187=c-129.5 (7.68)
T29E  +129.6 . 7—6—8-20.55 {1-%)
et e T =
s, = =c{ ]n: 151.924[
‘ |?~—7:Hg¢2" 1295 157, gzlj
12, 1=18,7V e c0ss
20,65 =2055V
5. 6125=035 A
0.35 0.35 2 é
\‘ 5.z _i. +‘>L-‘-‘Z£* \z+33= 42
L1252035(N8) | -3 -3 2+p=21
2 = _
bIZS:lpIZS\/ z TS 29 .29
X< 5 T e
X=33
7. 1y=43‘ 8 k—2-5~=<si
2 5 6 12 q_}__zg ____(0;5_
_%._‘-_«.l;:%}..-_g: Llod\ -z K_—ﬂ-:j_l Y o 12
T 2 5 y_(ﬁg;}“%s LIz 3711 =12
= 44 L4 - 22 ar Jnd T e 2
y= 1 (85| _ =
— 22 _ k=2 R nd
22 .22, 4 12~ 12
5 s K=9
9 5%=w+2§ 10. ]g—:a—:-]%
1
WS T 3Tty g 372514
-1 -11 51:%+E y 2,3
— —— } l: -""":_--l.l
i 59 _ 59 3% i : "
| %Y ey 355’7
3E=W 2z =4
3 "3

@ Gina Wnlson {All Things Aigebra®, LLC), 2019



Name:

Date:

Topic:

Class:

.Main ldeas/Questions

Notes/Examples

REAL-WORLD
Ove-Slep Equofisne

Use the-steps below to guide you in writing equations fo solve problems.

@ CHOOSE A VARIABLE | @ WRITE AN EQUATION © SOLVE

What are you trying to find?2
Assign this to a variable if the
problem doesn't give it,

Look for key words
far the operation!

Be sure o
check your answerl

SET 1:
Oelofition &
SGulLacuen

Directions: Define a variable, write an equation, and give the solution.

SET 2:
8. Durcon

1. There were 16 golfers eliminated from a Variable:
foumament off‘er‘ the ftrgt round. If there are 8 = 8 o*l-?r:rs
38 golfers remaining, write an solve an ,
equation fo find the inifial number of golfers. g igion

-l = 38
g-'l(o:%’. 54-1,=3%
Yl +lb 28=2% / Solution:
= 54|
9="51 54 golfers

2. Manny got a puppy for his birthday. After Variable:
one year, the puppy gained 28 pounds and W= W.&i@ ht
now weighs 71 pounds. Write an equation to
find how much the puppy weighed when Fquation:

Manny got him. _
_ wW+2g="1
w2g="11 §3+29 ="
-2% -2% 11=1 }\/ Solution:
o~
[W=143 1 H3 pounds.

3. There were ¢ cups of flour in ajar. If Ari uses Variable:

2% CL:D_;T? n;cke a cake, and there are 1 % C:' C'MPS
cups left, find c. -
2 . I”L "H[' 2%"\% Equation:

— = 1 - I . S O
-4 1z g-dez| c-23: 03
(" .— T{- - —i _§_ =§. \/ Solution:

+_‘|__}__ 4+ U 2 2 L'* N ¢

LPs
— =T [k ¥ o
4, Sam's car averages 24 miles per gallon. Variable:
How many galions will he use for a 300-mile -
road tip? 9= 9gallons
2_4 3 =200 24 (‘2‘5)=300 Equation: _
24 z4 300=3cov[ 243 =300
. 3 = ]2‘5 f Solution:
| 12.5 gallong

© Gina Wilson {All Things Algebra®, LLC), 2019



5. Jordan and Alex are playing a video game. Variable: '
Alex scored three times as many points than \Q = P 0} Y‘!.+~S
Jordan did. If Jordan scored 87 points, how
many points did Alex score? Equut{gn:
91- £ -3 . ¢1 2] _ 4 g =3
1 ' 7 Solution:
p=20\ 323V 201 ovind
4. Lana spent $59.40 on stamps to mail her Variable:
wedding invitations. If each stamp costs W = Weddi
$0.55 and each invitation got one stamp, invi YO NS
how many invitations did she send? Equation:

0.55W=59.40

o065 055 0,55 (108)=5%4¢

0.55W=59.40

: lution:
HHdo= 6q4pv | %
W= - . .
[_—ﬁ 108 ipvitations
7. Melissa is a reattor. She sold 29 homes in Variable:
2019. If this was 7 fewer homes than she soid = hb
SET 3_ in 2018, write an equation fo find A, the h h mes
. number of homes she sold in 2018. Equation:
Nvixeod Equatiore 29 = h-1 29=n-"
+1 +7 Solution:
8. Katya sold fruit baskets for $16 each for g Variabie:
school fundraiser. If she raised $348, find the -
number of fruit baskets she sold. b - bas.k'e/t
1 » Equation:
b b=30y 1bb =208
b
l (o ! Solution:
b= 23 23 baskets
9. Mrs. Johnson deposited a check for $175 in Variable:
her checking account. If the balance in the -
account is now $724, find the balance in her b ba\anc <
account before the deposit. Equation:
b+ 115 =124 b+mns=124
-11s —I7S Solution:
&
b =549 849
10. Remiran a 5 mile race and averaged 9.2 Variable:
minutes per mile. If ¢ represents her final = |
time in minutes, find . t= me .
t Equation:
5. 2. =9.2 -8, — =44.2
=} ' s 0‘
Solution:
t=du UL min

® Gina Wilson (All Things Algebra®, LLC}, 2019




Name:

Date: Per:

Unit 5: Equations & Inequdlities

Homework 5: One-Step Equations Word Problems

** This is a 2-page document! **

Directions: Define a variable and set up an equation, then solve. Give the equation and solution.

1. An oven temperature is rising at a rate of 15
degrees each minute. How many minutes
will it fake the oven forise 375 degrees?

M= minwuitres

2. Lake Ontario is 24,360 square miles smaller
than the size of Lake Superior, If Lake Ontario
is 7,340 square miles, how many square miles
is Lake Superiore

S= Lake SuPevio,ﬂ

[Em = 37158
= 15 S-243(,0="1340
15 +24300 +24360
m= 25 S =3170D
Equation Solution Equation Solution
Em=375 25 minutes S-243060 = 1340 | &1,100 sg- miles

3. Camille went for a 45-minute walk. If she
burned an average of 3.2 calories each
minute, how many total calories did she
burn? X = dotad calorics

s) X = 3.2 (45)
45

4. Ramone fook the SAT twice. He scored 1340
on his second fry, which was 190 points
higher than his first score. Find his first score,

F= firs+ Score

F+190 = 1340
= |44 -190  -90p
= {|5D
Equation Solution Equ'ufi.on Solution
us - 32 44 calories | F+lap=1340 | IS0

5. Lyla got a haircut. If she hcd'zg cut off and
her hair is now 8'1'76 inches long, find the

length of her hair before she got it cut.

H= Hawr leng +h

é. Frank's dog weighs 4.25 times more than his
cat weighs. If his cat weighs 13.8 pounds,
how much does his dog weigh?

b06= dog's weight

b )
H-2%=3% (B9) g =426 (139)
H-4 =% _
oo D= 586
4 a.
H= g,__:_% H= H?.o
Equation Solution b Equqhon Solution
H - 2% AT ”7%6 inches 128 H4.25 58.5 pounds
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7. The toll to cross g bridge is $1.25. If $72.50
was coliected at a toll booth one_hour, how
many cars went through the booth?

C=Cavs

8. Ten years ago, Elijah bought shares of stock
at $1.65 each. The value of the stock is now
1.4 times higher than it was when he
purchased it. How much is the stock worth
per share now?

S=stheck
l.26¢c =72.50
- .S = 1.4 .(I.es
c=53 §=2.3]
Equuﬁop Solution Equation_ Solution
1.25¢=72.54 5% cowvs | Tee ° 19 ¥2.3
9. Vance is buying o new car for $23,084. If he is

trading in his old car for $9,567 to go towards

his new car, how much will he need to pay
for his new car?

10. Five-eighths of the sixth grade students at
Clearview Middle School buy their lunch.
If 265 students buy their lunch, how many
sixth grade students are there?

%= paymenct =
- 95067 - 9867 ?’§~S = 205 . 3
5 2 5
X= 13517
S = Hz4
- Equation Solution Equation Solution
X+9s6r= 23084 | $13,517 25 =268 ol ehudencts

11. Meredith is § feet shorter than her friend

Tucker. If Meredith is 5 % feet tall, how tall is
Tuckere

T= Tuckers heighst

12, Treena flew home to visit her family for
Thanksgiving and checked two suitcases.
If their combined weight was 71.5 pounds

and one bag weighed 47.8 pounds, find the
weight of the other bag.

S b= baﬂ Weag et
3 TS
T-2 - 53 b+ 473 =115
2 " o — . - ¥
vz +f£ 47y -H
— 3 s b= 23.7
= — |
T3 T=5%
Equation Solution Equation Solution
T-5=5% 5% py b+41.2=171.5| 23.7 lbs
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Name:

Date:

Per:

Math 6
Unit 3: Equations & Inequalities

Quiz 5-1: One-Step Equations

Directions: Solve each equation. Show your work and check all solutions.

1@%:8 x 4
lo
X‘;L{g g:g\/
3. 40=8r
- = 40 = g¢s)
g3 Ho=tp,”
85=v
5 14=q-3
‘ =17-3
3 13 =1t/
7=
7. 3n=27 X
E; E; 3CQ)'Z7//
271=2]
=9
LS§Z)L—7 125 (5.2
"52 U ‘
'‘E 27.05
37.06_
5.2 =128

2. w+13=24

13 -3
w=/l

4, ¢-8=20
+8 18

C=

o~

4s

4
-5

8. k—-29=47
+29 +29

k=0

10. 16.15=49+¢

-H9 -44

1.25=9

126271026

it | T
2. W=ll
3._r=5

| 4. C=2%
| +aL
6. Q:'—LS
2. N=
5. K=Tlb
\sl;é_é/ o\ =37.05
10. 8(:!1.25’

1p-29 =41
=41v”
0.15=4.9 +1).25
115 =105 v~
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S 2 1 1
IE'EF% % 12. p=x-27 1._2= |15
. A ox- 13 _ 5.
z2=34 &BE  wTATT 12 X= 23
\ 2.4 .8 +13 +13

Z:tg s 3 5 ) [ ._;_:,235 2%;

29 _ 4

o TX X=27% s

Di_recﬁons: Write an equation using a variable o solve each problem, then give the solution.

13. Pineview Middle School has 158 fewer students enrolled than W ellington Middie School. I

Pineview Middle has 1039 students enrolled, how many students are-enrolled at Wellingfon
Middle?

W= welli r\gﬁ -

: . " Equation:
W-168 = 1034 T W-158= 1029
+15% 7 +15¢€ | Solution:
W= a7 197 studends

14. A group of six friends went out for dinner‘ond equally split the dinner bill. If they each paid
$24.70, what was the dinner bill?

B= bill

(b) . _E. = 24.70 - ((p) | Equation: %:2410
| -E.‘: l‘-l-gz_ | Solution: $ L”% 2D

15. Travis bought a turkey for Thanksgiving. If the turkey costs $1.30 per pound and he paid
$18.85, how much did the turkey weigh?

W= Weight
l%gg - lth\U Equation:
.30 {-30 13.85 = [.30W
i“’:g - W Solution: )45 “OS

14. Elisaran a total of 8% miles on Saturday and Sunday. if she ran 5% mites on Saturday, how
many miles did she run on Sunday 2

S= S[}Lnd&,\i
4 Equaﬂon
5% +S = g te=gd
Solution:
2l yg= 44 3% miles
4 G 2
~2) -2 © Gina Wilson {All Things Algebra®, LLC), 2019
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Whaly i aly
INEQUALITY?

A mathematical sentence +hat

Compayes expessions: |
Inequaliy | swswan | SIS | soremman | S SR
SYMBOLS < < > bl
Wirite each sentence as an inequality using a variable.
WRITING 1. "A number is greater than or equalto 5." nz 6
QMWQX,{M& 2. "A number is less than -17." n < -1
3. "40is less than or equal to a number." |—l O &N
4. “9is greater than a number.” >N
5. "A number is fewer than 14.” Nn< |l l—‘
é. "A number is at least -3." n=-3
7. "A number is no more than %." n < -—‘i
8. “A number has a minimum value of 9.4." n =9.4
9. "A game is designed for ages 13 and up." 8 213
10. “The theater can seat up to 500 people.” + < 500

A solution to an inequality is a value that makes the inequality true.
Determine whether the given value is a solution to the inequality.

SOLUTIONS 1. x>16,x=20 12. p<5 p=8
WWMWW 207 1L ¥ £S5
NES | ho
13. k<-13; k=-4 14. ¢>-10; c=-7
-H¢-13 -1z-10
no M=
15. 20<a; a=27 16, =1>mm=2
20: 20 -172
Nes No
® Gina Wilson (All Things Algebra®, LLC), 2019




17. n<3.);, n=3.089 18. f>13.04; f=13.008
3.08% £ 3] 12008 > I3.04
Yy no
19. y>58.25 y=78 20. 60.32v; v=60.295
1.8>5.25 (0.3 > 0.295
Yy Yas
2. a= 2. 04
19.a2§,a-]0 22. n<15,n—19
A s 2 y
o > 3 ys | & ¢lE no
1 3 3. _1
23.z>q =% 20. zSE,z—2
T2 - <2
Y “20 yx 2-3 no

GRAPHING
Jnecpualilies

The set of all solutions of an inequality is called the solution set.
We can graph the solution set of an inequality using a number line
with an arrow pointing towards all possible solutions.

Example: x>4 means "xis a number that is greater than or equal to 4.”

e e M
0 1 2 3 4 5 6 7

When graphing inequalities:
> Usean OQM} crde  for_<& or_7  symbok.

> uea Closed  civcle for £ o 2 symbols.

EXAMPLES

Directions: Graph each inequality on the number line.

25. k<2 268, a=9
-l Ol 2 3 45 b 1% 9 I 12
27. pS-]- 28. 5>x XLS
é_L—'
L L L 1 L. Ak—l___l—@ 1 ] L.
-2 -1 0| 234 zZ 3 485 b 18
29. 3<m mz -3 30. y>1.7
< [] [ L L [l 1 » < L 1 L lkl 1 I;\
v 5 4 3 -2 0 1 01 2345
31. z<§- 32, —2x Xé%[ X & 2.7-lr
< L L L 1 1 1 L L. 4<l [l I_l% 1 L L
-2 -lo | 2 34 -l 0t 2 3 4S8
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Name:

Date: Per:

Unit 5: Equations & Inequalities

Homework 6: Writing & Graphing Inequalities

Write each sentence as an inequality.

2. "16is greater than or equal

1. “Anumberislessthan3." |\ ¢ 3 1 g nurber.” Lz n
“ H 3 ”" 3 .
3. A - —— " 4"
number is greater than 8 n > = 4. “A number is at most -4. n £ _.Ll
5. “Anumberisnolessthan-11." | Z -|| [é. “$75islarger thanallbids.” 75 > b
7. "A bus can hold a maximum 8. “Roller coaster riders must be
<
of 60 students.” b £L0 at least 48 inches fall.” rzZ4g

Describe a situation that can be represented by an inequality. Then write the inequality.

. To_earn extra Credit) the students Inequality:
must onswer o least b bonus 20
QAT ONS -

10. Gervy  wwust drive withn the inequalily:
55 wigh seecd limit- 6 £55

Determine whether the given value is a solution to the inequality.

11. x<15 x=28 12. n2-4;, n=-1 13. w<=-23; w=-27
22 < \S no -l z "L} \’fS -274£-23 \fG
14. a>-6/a=-8 15. rsl§2r=l§ 16.y>§:y=§
“37-L ndo | 15¢<1% Ves | 555 no
17. ¢ 2 6.05; c = 6.0389 18 k<311 19. p >20.095; p = 20.603
" 5 20
L3R 2605 1o | 35¢2 Y& | 20-603 >20.095 s
Graph each inequality on the number line. '
—0
20. x>9 —— > | 21. m< -2 ——t— >
b1 €9 bl I2 < =+t 3-2- 0 |
3 o — r—
22, z>z «—t—t—t——+—+—+—> | 23. 1.5<p S T B o e B
-1 0l 2346 pzis -1 DI 2 345
—0 o——
24, -7>a —t——t—t—t—t——>| 25. z>38 -t
o<1 A 4 ®-1 b5 4 06123450
— | 0
28, ¢c2-12 — > | 27. — >k — >
15 H -8 (12 ) - 9 kex -2-10 12 34
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

SOLVING

INEQUALITIES
i, addtren,

« Addition Property of Inequality: If you add the same number to both
sides of an inequality, the inequaility remains true.

¢ Subtraction Propenrty of Inequality: if you subtract the same number
from both sides of an inequality, the inequality remains true.

Solve the inequality and graph the solution.

1. x-522 2, k+9<13
Bsulsiaction s 5 959
= Y
X 2] K ]
RN '

o— = -0
45,18 2% | | 2345 b
3. 16>p+7 4, y-9<8
-1 =1 1 +9

7P v

& O —@
L 189 oz MO1S f 1718 19
5. a+13>24 6. 9<r-14

-3 -3 py +H4

2341 |rz23

o— o—
T2 9 1o N 12 B | zp 21 222 24 25 20
7. 14>6+n 8. c-1<1

b b + +

g7 n J'lv'\ L ¥ l c<2

&—o0 —o
ERETETT R TE

® Gina Wilson (AllThings Algebra®, LLC), 2019



9. 1.4<g-58

10. m+3.7<10.85

158 5.8 37 -3.1
",,Zéﬂ ’5>7'2.} W\f—‘"’"s
. T | ——*
4 5 L1 89 I 4Ys 19 9 o
. h—%sg 12, %a%ﬂ

2 2 (X

Ny -4 -1y
—@ o ?

& 3

& L

-2 -l 01 2 3 4

>
>

.
>

-z-to:is*l

IDENTIFYING
soltsong

Determine whether the given value is a solution to the inequality.

13, x+16<23; x=9

14. m-2>7,m=10

941 <23 o-277
25423 8>
ho Nes
15. 32>15+k; k=19 3 1 3
’ 16. —2=+y, y=—
3215419 34 2‘ 3‘0
32534 T2Z7%
35,4
no Y 5 Nno
17. n+7<14; n=9 18. 5<p-16; p=21
A+ 414 5¢2]-b
ey 5¢5
no No
19. 124> r-39; r=16.25 20. z+3.7210.); z=6.4
12.4 > 1b.25 -3.9 L-d+37 2 0. |
12.4 >12.35 10.1 Z )D. |
\es NS
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Name: Unit 5: Equations & Inequalities

Date: Per: Homework 7: Solving One-Step Inequalities
(using addition/subiraction)

Directions: Solve the inequality and graph the solution.

1. x-3>1 2 p+2<19 3. 9<5k+4
43 13 -2 -2 - -4
x 2 PE0] sz [(kz2s
o— E— 0——
Pra | L L 1 L 1 L A pra [ L L L L L 1 - pPra 1 L 1 L 1 L [} -

Il 23 4 58 1 14 1S le 17 18 19 20 L 2 3 45 6 1
4, v-2<12 5. 21>8+ b. z2-3215

42 +2 -3 -% +3 13

——————._" . —

N O N —0 L, .i\
o1z 3 st v | g0 1M 2B 1 ISle | 15 le N 18 19 20 21
7. 92a+8 8. c-2>7 9. h-035<09

-g -3 t2 +2. +0.25 10.35

> > 9

> a _asl ;C W\ Z1.25
—e o y | « o
-2 -t0 1 23 4 b1 €9 1w hil2 |-2 -1 oI 2 3 4
10.§.5<m+§.90' 1. r_%<%

i L +9. 19

L. p<mMm m> 4.6 o1 -

v <2 r<lz

O'—'——)e_____—-o

- 3 'l Il L 'l 1 i » < L L I - — I L 3 A
] T »

.l 61 23 4s

\ 4

Directions: Determine if the given value is a solution to the inequaility.

13. a+3<8;a=4 14. 1023+m; m=9 15. k=-11>4, k=16
Yt3 £9 102 3+9 lb-11> 4
48 NP l0z12 no 574 yes
16. p-2>6;p=8 17. 14<y-02.y=1.5 18 C+l<é c=§
Q-27b [4£].5-0.2 aj_Lf__c_, 4
|4 L3 4.3 S
o7t o | gk e
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

SOLVING
INEQUALITIES
wsith Multiphication

* Multiplication Property of Inequality: If you multiply both sides of an
inequality by the same positive number, the inequality remains true.

« Division Property of Inequality: If you divide both sides of an
inequality by the same positive number, the inequality remains true.

Solve the inequality and graph the solution.

‘l.ix_<]_(l ) 2. 70263
2 2 EG
><<5] ‘azq
< L L L L L ¢ - <L 1 L L L L 1 1 -
23 4 5 b 1 % 717 2 9 101 12
£ 228 .3 Aok Ly
m2 24 2>K keg
o— &0
‘2.|2Iz7-.32'.42'52.bz|1' ‘Ist;"v's';]wl':'
5'-7-{'22—% 65.'£<3 .5
U | 5
X224 !94\5}
o— e——0
) 23485 b T | 213 s e n e
27 .2 8.18>3n
" 27 3 3
e <1y b>N Nl
A— & —O
12 3 14 Kl 1N 3 45 L ¢ 9
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1
@

9. 0.8a<20

——— a—

’ k
10. 4.75<— . {.
1.6 e

0¥ p0g

[ ! A & > .

——0 o—>
23 24 25 2,21 28 29 | 4 S L 18% 9 o
11. 2.5v>31.5 4

T SZp>20 -3

7.6 25 ® P77

‘VZIZ.(o !F >|5(

— o——
zq o i 12 13 M s . 12 B 14 IS Jb N IR
£ ..2.,1.2 32 3.3, . L
]g. m -+ S38 5 g4.8<6k 5

< 25 % a q
¥ s 20 <K k>20
S 1
med [ned ]
& ° o— -
2 -y 012 34 | -2-900 23 4

IDENTIFYING
solutrong

Determine whether the given value is a solution to the inequality.

156. 4m<16; m=3

18. 24<2c,¢c=12

$4(3) £10 24 <2 2((2)
122 1 24 <24
Yes no
17. §>5;y=21 18.%23;2:16
Zls 1?323
1>8 yas 223 ND
19. 16>8m; m=4 r
’ 20, 221,218
9
1LY $(4) 18
> 32 9
Nno 222 yes
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WHAT SHOULD A CLOCK DO uon % ol burgpsy?

Directions: Solve each inequality. Show all work on a separate sheet of paper. Match the
solution to the inequaility with its comresponding graph within each set.  One will have a letter and
the other a number. Write the letter in the matching numbered box at the bottom of the page.

i

> e ———— >
6. *¥+3>10 X S. 2 3 4 5 6 7 8 9
_ Z1b Ot
12. ¥=11<5 X l C 40 1 2 3 4 5 6
1. ]55x+]2 3 f x N < = } } : o — : ‘:
3 2 4 0 1 2 3 4
16. | x-6<5 )(4” 0. - : e ————>
18 19 20 21 22 23 24 25
5. | x+6210 XzH B, e ————— >
10 11 12 13 14 15 16 17
M. | 1327+x Lb2zX K. PRI ST
: 5 6 7 8 9 10 1N 12
- £23 DR ST S SE R
8. ¥=9<14 X G. 0 ' 2 3 4 5 & 7
£ S ) ————+—>
1. 14<x+13 l X D 7 8 9 10 11 12 13 14

x
3
2. | X>7 X235 |\ e e >
5 2 4 0 1 2 3 4 5
4 O ————
13 2x <18 X i U 10 11 12 13 14 15 16 17
7 | 422 2 0. «————+o —
4 31 32 33 34 35 36 37 38
2)0 R e | U S
1. 5x > 50 X ! S. 9 10 11 12 13 14 15 16
i .?- ( : ' 4 T ' ’ : %;
10. 628 X24¢ 0 0 1 2 3 4 5 & 7
4 24 >12x e e

£
(4]

clo [N(D S|
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Name:

Date:

Per:

Unit 5: Equations & Inequadlities

Homework 8: Solving One-Step Inequalities

(using multiplication/division)

Directions: Solve the inequality and graph the solution.

1. 4x<36 3%k.0.6 3.28>7m
4 4 2 T
[x<9] K 210 d>m  (mzY
&0 O— | & —0
L1 %892 ]| 189400208 | 23 4 56 7T
£ g £8<l ., 6. 10210
8 _ 2 ) 1D
c<24 [ ¥ ‘r?,b} "F.‘_'l;
P | L L L L (] I A Pl 1 L L 4 L 1 1 - A L 'l L L 1 1 1 -
u B M2 227 | B HI L1 9819 | -2-1 0 | 23 4
7.72>9y "q 7.0 9. :1_1>60
7 9 6 4 4
2 >y ‘349] ’Otﬁ‘*zz V75 |
‘é...‘o....‘4'*"...0....\,...O'....j‘
S b1s AN | 3o Y d2u3 W HS | 2 3 M ISV g
0. <78 . 1.8 1. 14<08m j2:10,,8 .3
15 O35 OF 3779 o
Sz .5 <M | >17.9]
z< 117 17 M71LS
— ® o— o —
2 2o 2By | §swnigMaw | 2-1 0 12z 34
Directions: Determine if the given value is a solution to the inequality.
13. 9x<36;, x=2 14. £<57k=28 15.6<1;v=18
AZ) £3¢, 4 6
2,5 < 1&
18 £ 30 it b
\fﬁS 745 o Le3 Nno
16. 0.5"26;'2:]2 "7.327; z=32 ]8. 3p>2]2p=7
0.5 2k :2 31 > 2
bZzb =2 2172
Nes | ¥ 429 ho ! no
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Name: Date:

Topic: Class:

Main Ideas/Questions | Notes/Examples

Solve and graph the solution to each inequality.
1. ¢-3>1 2. 2m<14

MIXED £33 zZ z

Orestp | [e2 ] [m<]

INEQUALITIES

o—> «— &
"2 3 456 7 | 45 b1 % 910
3.10<a+9 ¥y .
_ﬁ -q 4.§<2 g
| <o oz yete
pra I 3 'l L 1 L 1 - ra L L L L L ] 1 -
"2 o1 234 | 134 aste niel9
5. 57 =45 5 3<k-8
5 5 rg 18
rz 9 | 2K K>l ]
< L [ L L L —l L . <L L L 1 1 1 1 L -
6L 7 3 910 12 | %9 w0 W 1234
7. x+14<19 P .
-1 -1y 3?526 3
En
Pl L I L L L L 1 L. - L L 1 1 L 1 2 »
2 3 45 1 8 S b 18 1420 2
9 n-176 10. 402 5¢_
+1 11 s 5
=y [557
O———.-_> e

1 L.
>

A 4
A

&
<

§ L 1 % 9 10 1l
® Gina Wilson (AllThings Algebra®, LLC), 2019

20 21 22 23 24 B 2




1. w+2215 12. 122v-13
-2 -2 +13 18
W 213 > <
252V V£25
o———  —
o 4 12 B8 41§ b 22 23 24 25 26 27 23
13. 4k>24 14. z+78<121
T 7 18 -13
‘ K >0l [Z=43]
o—> & L
3 2-1 0O\ 2 3 23 485 o 1
3. 3 8 3 2 5
1 +=>— 186. 3=<c--
8 x 2779 T 33 €=
W 2p-S
2 = 4 (-2
X235 3 b
A. z 4y
o— r——
3 2 o 123 | 1 z3d45 ¢
Translate each inequality using a variable.
17. “The sum of a number and 3 is less than or n+3 L
TRANSLATING equal to 8." =
@-V'@-— 18. "The product of a number and 5 is greater
INE UA%IﬁES o
[l 19. "7 subtracted from a number is no less than
16." N-"12Z10k
20. “10is fewer than the quotient of a number n
and 4" 10 <
21. “Three-fourths of a number s at least 75." —?,‘— n 25
22. “A number increased by 8 is greater than
2 YER9 n+g 720
23. “A number divided by 5 has a minimum JATENS 9
value of 9." 5 =
24, "Fifteenis less than 4 subtracted from a -
number.” |5 < n 4
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ONE-STEP INEQUALITIES MAZE!

Directions: Solve each inequality. Use your solutions to navigate through the maze. Show all work!

7+x<20 2. 22153 x—14>29 m
1 -7 - 3 =t A i_"sf’_
43) ‘!!’- 2
TXx<B3 XZ4ys = X743 GsS
X£3
x<27 CONEE A x<15 x>15 x<12
o7 12>x-8 x+19<32 40 < 5x
? t8  +%
x<4 —_— x24 x<8
202X
X £20
x> 68 x220  {x< x216 x> 51 x>8 x<6
101<x+4.5 9x > 153 12+x<28 3 1ecis .3
- a g -2 (2 3
"5 %5 G>17) 19 <17 <18
x> X XS
5.4 X x> 17 xz1b G x ¢5Y
X25.b
256\ x<54 x<19 x>28) " | xs30 [ \_x<40 Cx<54))
() g =16 Ao<l& / l 4 .3:5044
ar nd! 3 e
x<11.6 x> 8l x>30
X%12% 25 <X @ Xz32
X>2S
x<1238) y @g;& 1x>2) x218 ~ 5> 32)
4x>_6_3_'é i<76 5)L oy . /
E Qs)o_s_ 6( ;
15.4 <15.2
X 7159 x<38 |
x>162| (o> 15\ (v 2 47 A
38+x<7.l1 x-3.820.95
+3g% 13.%
x <109 x>4.84
X z413
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Name: Unit 5: Equations & Inequalities

Date: Per: Homework ?: Solving One-Step Inequalities
(all operations)

**This is a 2-page document! **

Directions: Solve and graph the solution to each inequality.

1. x+8<15 »P2,, 3 3. 4a<20
- °§ 3 T3
22
P27
,...C....;4...‘L...i\,.‘..‘...l\
45 L1890 (3 19 20 21 22 23 24 23 45 L 1 8
4. 1<v-1 §’£<6 '8 é. k+3<14
+, .’,I 8 3 ".3
— O...’.\,.’*_'..O....\,.&..’....\
) 012345 4s 4, 1 4344 S0 5) g 9 1o M 123 1
7. 8232 Sw 9. 52n-4
Radinhiull 87 =->6 8%
R 3% 57 »oT
g...ﬁ...}\,...o...’.;,.:..'.. C
12.3'45'(97 272;2'1303.v?..:.3l3 1,'189/0“12
l(d.b)%<5 (I.Lp) 11. g+892121 12'3’—251_'_2’,
A -¥A 1.2 ),
|323-7. 135 <+ itns.s
y O o ) .

>,
>

> <&
> <

"5 4,729 10 Il D123 45606 o 112 B Y IS 1t
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9 7 1 2
18, x-31 2 w21, 15 23522
x <]|O 3> 6f b 5. r+=>2 2]5
-3 .14 +5 5 32
X5 % et g" k'gzl_‘g
3 43 Z
S 5 . Fety rzd  rz
X¢5 | <723
2 X¢22
| i L ' 1 1 L N pa L L L ]l 1 L [} . < L 1 1 1 L L L A
O 1 23 4 5 b n 1263 MiIs le N -2 -\ 0t 2 3 ¢4
Directions: Determine whether the given value is a solution to the inequaility.
186. c-5>8;c=16 17. 457 =30 18. 7v=49;v=8
- 6 ,
b-57 g Yz 30 13Y 249
I >g © Slo 249
Vs | dzs no Yes
19. 13>k+9 k=4 20. 3a>42,a=13 21. _P_<5.p_20
255 p=
13> 449 3C1R)>42 20
<5
13713 39742 o
ho no 5% V&
22. r-09212.38; r =131 23. 4g<21.2g=52 2. 7,1 y=]_3_
10
13.1-09 22.3¢ H(5.2) £271.2 2 13 4
3 _— -
1o 2
12.2 2 12.3y 20.8 <21.2
I, 4
05
N D Nes Nes
Directions: Translate each inequality. Do not solve.
25. “The difference between a number and 7 is greater than 16." h ..“l > | (ﬂ
26. “Twice a number is less than 30." Zn <30
27. "5 more than a number is greater than or equal to 27." VH‘S > 2—7
28. “The quotient of a number and 6 is at most 8." -—8— < %
29. “14 subtracted from a number is no less than 50." N "H z50
30. “42is fewer than the product of a number and 3." L-} yA Z 3 N
31. "“Two-fifths of a number has a maximum value of 75." .52.. Nn £75
32. “20less than a number is at least 100." N 1.0 2 100
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

REAL-WORLD

One-Slep Thequaillies

Use the steps below to guide you in wiiting inequadilitles to solve problems.

© CHOOSE A VARIABLE | @ WRITE AN EQUATION © SOLVEl
What are you trying to find? Look for key words Be sure fo
Assign this to a variable if the for the operation and check your answerl
problem doesn't give it. direction of the inequality! y

Directions: Define a variable, wiite an inequality, and give the solution.

1. A marathon runner plans to run at least 62 Variable:
. miles this week. So far, he has run 27 miles. = 1
SET 1 How many more miles does he need to run Mm=mi 'ﬁ
Addilion & to reach his goal? Inequality;
Sublraclion 21%m = 2 21+ M > 62
21 -2 Solution;
mz 35 m2 35 mikes
2. Aria likes to keep her credit card balance Variable:
below $800. Her last statement showed a -
balance over this amount, so she sent in a b - ba’ lame
payment for $250 to bring the balance Inequaiily:
under her limit. What was the balance on - l
her statement? b 250 800
b —250 < 320500 Solution:
b < 1050
3. A category 4 storm in the Atlantic ocean has | Veriable:
a wind speed of 132 mph. The wind speed X = C ’ n
must reach a minimum of 157 mph fo be W f
classified as a category 5 storm. Find the inequality:
change in wind speed required to change
the storm to category 5. 157 £ X+132
’5 '7 _‘_’ X -+ 13 2 Solution:
25£ X
4. Students on a field trip are divided into 24 Variable:
groups with no more than 5 students in =
SET 2, each group. Find the number of students S S-’udtm
. on the field trip. inequality:
Mulliplicalion \Y =<5
24. > ¢5 .24 £
& Divigion L Sy =9 24
Solution:
Z
$£120 S£120 stvdents
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. Astockis selling at $2.40 per share. If Gary
can spend at most $150 on the stock, how
many shares can he purchase?

2.4D X £ 15D
2.40 240
X4028

Variable:

X=*¥shares

Inequality:

240X £150

Solution:

X4 2.5 shares

é. An online shop had at least 3 times as many
orders in 2019 than they had in 2018, If they
had 225 orders in 2018, how many orders did
they have in 20192

225 23 225

225
X2Zp1S

Variable:

X= orders

Inequadlity:

2 >
22‘-5"3

Solution:

X 215 orders

SET 3:
Mixed Operations

2%t = 24in>

7. Kate withdrew $240 from her bank account,
leaving a balance that is greater than $500.
What was her balance before the
withdrawal?

Variable:

b= balance

Inequality:

b-240 > 500 b-240 > SO0
+ZL‘0 1’24 D Solution;
b>74D b > 3740
8. Jeremiah ran é miles. His average pace per | Varlable:
mile was no more than 8 minutes. How - AA"
many minutes did Jeremiah spend running? M = Mihutes
Inequallly:
oM 29 M, g
b W
Solution:
£ 4y :
M m & HE mMin
9. Alakeisrising at arate of 1.5inches per day. | Varlable:
If the lake rises more than 2 feet, it will cause A = d oads
flooding. How many days can the lake rise \'I
at this rate without causing flooding? Inequality:
1.5d £ 24 |.6d £ 24
l . 5 | 5 Solution:
d< | d £1b days
10. A theater must sell @ minimum of 1,200 Variable:
tickets for a show o go on. If they have g
sold 387 fickets so far, how many more t t) Ck—@k
tickets must they sell? Inequality:
1 +3%71>1200 t+3%7 2 1200
-387 -3&77 Solution:
tz 913 12213 Hickets
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Name:

Date: Per:

Unit §: Equations & Inequalities

Homework 10: One-Step Inequalities
Word Problems

** This is a 2-page document! **

Directions: Solve each problem using an inequality.

Identify both the inequality and solution.

1. A gym teacher placed golf balls into 9
buckets so that each bucket had at least 15
balls. How many total golf balls are there?

.o
b 2135

2. Omaris on a diet and eats no more than
1,800 calories per day. If he has consumed
385 calories so far today, how many more
calories he can consume?

C +385 4100
-285 -385

C £ 141§

Inequality Solution
<215 b2 125 balls

Inequality Solution

C+385 £1800| C £ 1415 cold.

3. Elena types approximately 50 words per
minute. How many minutes will it take her to
type an essay with a maximum of 800 words?

4. Nick drained 2.8 gallons of water from a fish
tank. If the amount of water in the fish tank is
now less than 24.5 gallons, how many gallons
were in the tank before he drained the

50 M S?OO water?
50 50 %—z.g Z 24.S
M 2 \b +2.8 +2.%
¢ 213
Inequality Solution Inequality Solution
SDM £800 | M&Ib Min | 9-2.8 ¢24.5 | 94213 gal.

5. A pilot must log a minimum of 1,500 training
hours in order to fly an aircraft. if Brett has
logged 892 hours so far, how many more
hours must he log?

H+8a2 21500

4. The vailue of a baseball card is increasing at
a rate of $40 per year. If Tom purchased the
card for $300, how many years will it take for
the card to at least triple in value?

Dy 2 LoD

~892 -89Z2 Ho 4D
H 2 w03 \I 215
Inequality Solution Inequality Solution
H+8492 2 1500 | H 20608 Hours | H0Y 2900 N2 15 years
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7. Sean's cat weighs at least 45 pounds less
than his dog weighs. If his cat weighs 13.8
pounds, how much does his dog weigh?

D-1B.8 245

8. Marsha went out to dinner with four of her
friends. If each person paid no more than
$21.50, what was the total dinner bille

(5}% <215 -(5)

13 +I13.&
D 2588 R £ 1015
Inequality Solution Inequality Solution
D-12.8 245 | D25g2.8 b | 5§ £215 B <% 0750

9. Naomi bought fabric on sale for $3.20 per
yard. If she spent less than $40, how many
yards did purchase?

10. Lena always keeps her bank account
balance above $50. If she spent $11.60 on
lunch, what was her balance before buying

A l—[ lunch?e
20N <« 1D
= b 390 2- w0 >50
3.20 ' +1).b0 +1.LD
<125 B> bl D
Inequality Solution Inequality Solution
3.20\ 24D N&iz25vds | »-1-bp »s0 | B>¥bl.bo

11. Sienna listened to music on her phone while | 12. A football stadium needs to sell no less than
she exercised at the gym. If she listened to 45,000 seats to air a game on TV. If they sold
12 songs and each song was at least 3.5 three-fifths of the seats and were able to
minutes long, how many minutes she spend air the game, how many seats are in the

exercising? stadium?
5 .2 5§ 245000 -2
02 T‘\g.’ > 3.5 -(12) 3 © 3
§ 2 75000
M2 HZ
Inequality Solution 3 Inequality Solution
M 235 MZ42 Min | ES245000 | s2715D0 seats
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Name: Math 6
Date: Per: Unit 5: Equations & Inequadlities

Quiz 3-2: Inequalities

Directions: Graph each inequality

1. x4 <——t— 1+ 2. ¢c<-9 (—|—|—{—{——{—{—|—)E
I 23 4561 -2 -l -jo -9 -2 -1 -6
o— 1 e
3.153<m <€—SH—"F—F———F+——F—+> 4.2§2a <+ttt 1>
2 3 14 s Il 1N ig -] 01 2 3 485§
IS A
Mn>153 n<23
Directions: Translate into an inequality using a variable.
5. “A number is less than 8.” 5. N <48
> .
. “A numberis at least -13." s._N = 13
Directions: Solve and graph the solution each inequality.
7. x+7<9 83229 3
-7 -1 3 7._ X<2
>
X2 p=2T s._ D227
\
-+ttt —t—t—t+—t———t> Z
-l 0ot 23 4¢% 24 25262 28 21 3 n._r=lb
9. ba> 42 10. 1327-3 n_ W =i
v T +3 3
- 12 N4S2L
a1 lb2r r<l
o—— . — @
-ttt «—t—t——t+—+—F—+—+>
485 b1 89 B4 510 gl
1. wed25 12.‘*'13>% o
-4 -4
—_— 527n n<s2
w2 |
L L 1
-2-fo 1+ 39 49 sb 5i 5253 S S5
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13. 04m=27.6
0.4 0.4

lmzlol)

——>
A —————>
o 17 1% 19 20 20 22
7 2
5. k-l 52
k273
tL -
26 20

K”>%

—

»a L I Il 1 l [ L -

<

-2 -lo ( 2 3 ¢

T ! 1 1 I I >

14, 1325>2+89 13._MN219
AL 02443
7?2 44.{ 3
3 [2 3 15. K>—“F
16. C-"=Z§-
o [ [] [ [] 1 L [ L
| 232348 61
7 9
16. §CS2E
3.2, 49 .8
1 3 20 7]
el ce 24
‘_:_____._._-—-‘
Sttt

-t 0ot 23 4 S

Directions: For each problem (a) translate into an inequality using a variable, then (b) solve.
17. “The difference of a number and 9 is less than 2."

17. n-9<2
n-<2 ° <\ |
+9 +9 o "
n
Nneail 18. (a) 7 2
18. “The quotient of a number and 7 is a minimum of 4." (b) n=z2¢
1524 7 19, (o) _18+b >125
Nz 29 (b) b? 47 bracele 15
19. Shiloh needs to sell more than 125 bracelets at a craft fair to 20. (q) (9"’ M £]L0
make a profit. If she has sold 78 so far, how many more does
she need to sell2 0 M%£25 Minudes
I8+ > 125
-18 -
b >4

20. A fish tank can hold at most 160 gallons of water. If the tank
is being filled with water using a hose at a rate of 6.4 gallons
per minute, how many minutes can the tank be filled before

it overfillse

b L1
L4 LY
M<25
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Directions: Write each sentence as an equation. Do not solve.

n-14=1I

13. “14 subtracted from a numberis 11."”

14. “The product of a number and 3is 72."

3N =712

g =3

15. "The quotient of a number and 4 results in 3.”

16. “9is the sum of a number and 16."

A=n+)u

Unit 5 Test Study Guide Name:
(Equations & Inequalities) Date: Per:
Topic 1: Solving One-Step Equations
Directions: Solve each equation. Check all solutions.
1. x-9=15 2. 4p=52 3. 13=k+4
19 49 5 9 -4 -4
,)(32_‘4 ' =13 FOI:K
24-9=1% 4U)=s2 12 =944
15=18vV 525821 13=13 v
4 5 z-19=26 6. 24=8m
4374 +H4 +19 z <
C=28 Tz [Z=45 ’ 3=
2 us-m=z, | 1= 24 ’_2‘@\/
7~ 2b=20/ 24 =24
120V
7. 25+r=6l oOm 9. 16.5=79+w
-25 -25 B 0%=1s (2.0 -19 -14
25+36= Lo} A - LS =918k
bl=Llv 2.L - N
Is=1SV W .S =S
511 3,7 4 T aee2
10. f--g_]2 lf 4y—]8 3 12, 42 a 63
'l'é-.t_g'_). :'s. zlgl:a-'-gg-?_’p
b L Y g §L 3 Z 3 3
- =
f=2 =5 20=0
3
T el T2 g 44=30k
- -9 - Loy
f=13 N A5 12212/ =43
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Topic 2: One-Step Equation Word Problems

Directions: Use a variable to write an equation, then solve. Give both your equation and solution.

17. Orlando, Florida is approximately 61 square
miles less than the size of Tampa, Florida. If
Orlando is 114 square miles, find the size of
Tampa.

18. Rylan is saving money to purchase a ring for
his girlfriend. If he has saved $825 so far and
this is three-fifths of the cost of the ring, how
much is the ring?

T:: TamPOL. 2" Ql%
T-ll =14 5. 826=32 R.S
ol 4] 3 s 38
T = NS 1275 = R
Equation Solution Equation Solution
Tl =14 1S mikes 925 “2-R #1375

19. Nora took a cab that charges $1.40 per mile
from her house to the mall. If the total fare
was $23.80, find the number of miles from her
house to the mall.

20. A recipe calls for 2% cups of sugar. If Nora

has already put in 1 % cups, how many more
cups of sugar are needed?

M= miles \&+c- 2%
).4Om =22 £0 AL e =gf
]. 4D |-40 -1l -1
b ___u_J"
Equation Solution Equation n Solution
|.40m= 23 17T hvuiles 1% +c=2% 12 CURS
Topic 3: Representing Inequalities
Directions: Write an inequality to represent the graph.
N s D —(———> -
2. < Y 5 s 7 : s 10 X£g 2. A4 a3 212 21 410 9 B X >-13
e e o o s e e —p———————>
23. 4 5 -4 3 2 - 0 Xz-5 (% o 1 2 3 4 5 6 X2

Directions: Write each sentence as aninequality, then graph.

25. "A number is greater than 12." X> 12 26. “A number has a minimum value of -3." >3
x e
- ‘ N
— Tttt —ttt+—F+—+—+—+%
a 10 1 123 WIS v 5 4y 3-2 -1 D
27. "-7is fewer than a number.”  _q, 3 - x»-7| 28. “The temperature was no more than 28°."
P X:x
& L 3 Il G L [l L %\ <& i ] i ] I ] i >
-0 9 -8 -1 b -5 -4 26 20 21 28 29 30 3]
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Topic 4: Solving One-Step Inequalities

Directions: Solve and graph the solution to each inequality.

29. a+7216 30. 7p<7 35" g .5
-1-7 77 5
X249 ‘PL\} m£40
— | ¢ -0 — o
AR KNI TR R M T A
32. 9<x-8 T 38, 36<9
33 —>3 ¢
g TX 8 9 9
74X X> 1 r>24 Lk k2
o— o— ——>
15 11181920 | 2 2223 24 25 2 27 123 48 (7
35. 2+w>13 @i 1 3
-2 - 3@.}0'2513.5 (0.2) 37.y+2z<3%
s A7)
Wt 2.7 Yty <sd
yi -9
\,(i
o——> ¢ —» 5%
929 b 234 | -1l DY 2 3Y4S5 -2 <101 2 3 ¢

Directions: Write each sentence as an inequality. Do not solve.

equalto 12."

N+5 £12

38. “"A number increased by 5 is less than or

number."

o =

39. “16is greater than or equal to twice a

3
T Nh ZLOo

40. “Three-fourths of a number is no less than 40."

41. "The difference of a number and 4 has a
maximum value of 25."

N-4 £2%

Topic 5: Verifying Solutions

Directions: Determine whether the given value is a solution to the inequality.

42, x26x=-15
-15Z b

no

43. m<-4; m=-7

A<y

&

44,

11

<

wlro

Y.y

pa—

)

—

L

l

w{N
O

) \y(gg
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45. p-5<8 p=13 46. 295+k 248 k=19 47. 2458 a=12
2-5 29 295 +) 9 2 4.¢ 2
8L Heszh g g (12)28
L
. Ve | Tz 2 No

Tople 6: One-Step Inequality Word Problems

Directions: Use a variable to write an inequadility, then solve. Give both your inequality and solution.

48. A group of students went on a field trip.
The students were divided into 6 buses and
each bus had less than 52 students. How

49. In their last game, the Eagles and Cowboys
scored at least 50 points. If the Eagles scored
16 points, how many PO IS did the Eagles

many students went on the field trip? score? E I
= ) = +b 25D
S=studendts LT <526 |E=Engles oA
S <32 E =34
Inequality Solution Inequality Solution
S .52 S < 812 Sthudenss| E P 25D E 234 pK

80. A builder bought a section of land to build
homes. Of the land he purchased, he can
develop no more than 225 acres and leave
the rest as open space for wildiife. If he left

51. Tabitha makes $7.50 per hour working at the
library. How many hours will she need to work
to earn a minimum of $3002

128 acres as open space, how much land did h = hO\LYS
he purchase? L-128 £225 77.60h 23200
L= land +12¢ +128 97.s0 18P
L& 3s3 hzdD
Inequality Solution Inequality Solution
L-1¢ & 22€ L£353 acres | 7.5Dh Z 30D hz 4D hrs

52, Adrian's gas tank can hold a maximum of
18.5 gallons. If he stops at a gas station with
3.9 gallons in his tank, much gas can be put

53. Alex and Troy went for arun. Alex ran 4%
miles, which was at most g the distance Troy

in the tank? s ran. 7l:iow far did Troy run? T '-='Tk0\,1
g:D?a”DnS ~§: 79 :3'?: 43 ¢ -2— T
gas 0 s Hegra
9 L)y b 3 o 2
L 2 Tz5%Y
Inequality Solution Inequality Solution
34 +9£ 195 | 9£14b gallons |45 £ 3T T254 miles
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Name:

Date:

Per:

Unit 5 Test
Equations & Inequalities

Solve. Show all work and check each solution.

1. x-6=11 l—'—lﬂ':” 2. ‘3_).71:’2_{ 868}:2%
+o to n=V 3 3 24=24v/
X =" m=¢

x= |7 m= 8
*13=-L - 3 4. 18+ p=30

A 5= e e I§+12=30

39=r 13213V ?=12 30=30v
- 39 P- 17
5. 18=9% 6. y-24=39 ol =
-q""q” l?’-"”z) 524 +24 L3 2""‘37
1=V — 39=34V
2: \,=b3
k=12 Y= b3
B _ 3_,7 -
7.)3_—4-8.5 (3.‘-0 2_8‘:? =5.g 8. v—lz=2§ L\%_,_%_Q%
_ 3 -3-23 2%3:23"
€= 2389 es=ssv/| ° T 3 ®
+0 i
e
v=2&]
c=289 5 v=H&

Translate the equation using a variable. DO NOT SOLVE.

9. “The quotient of a number and 4is 15" 10. 18 subtracted from a number is 26."

Q— =15 Nn-1I8 =2
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Write an equation to model the problem using a variable, then solve.

11. Miguel worked 5 days last week. If he
worked 7.2 hours on average each day,
how many hours did he work for the week?2

12. Beginning at its highest point, a drop tower
ride drops 130 feet to a point 95 feet above
the ground, then climbs to the top to drop

again. What is the highest point of the ride?

(5)_2_;7'2 (8 h-130 =95

n =30 +1830 T130
n= 225
Equation Solution Equation Solution
h _
g =12 3L hws h-130=95 || 225

14. Clarissa sold five-sixths of the bracelets she
made at a craft fair. If she sold 60 bracelets,
how many bracelets did she make?

13. Eliza and her mother have a combined age
of 51 years. If her mother is 39 years old,
how old is Eliza?

_ - b
E+39 =6) g Lo
-29 39
b="12
E=12
Equation Solution Equation Solution
E +39=5 12 \rs old 2b=0b0 |72 braceky
15. Which graph could represent a number that is no more than 72
A  Ce—t——|—— | ——{—> C. i) ——f——i—>
3 4 5 6 7 8 9 10 3 4 5 6 7 8 9 10
B. —F—— iy D. <t FtPt——t—r
3 4 5 6 7 8 9 10 3 4 5 6 7 8 9 10 A

Using the given variable, write an inequality to model the scenario.

17. "Bowlers that score at least 228 points will
make it to the next round.”
(let p = the number of points)

16. "There are fewer than 40 candies in the jar”
(let ¢ = the number of candies)

C 4D PZ2=

18. Which inequalities could represent the graph shown below? Check all that apply.

7 v 1 :)
3 2 -1 0

& J 4 | }

o~ 1 ¥ 1 1

-7

4 -5 -4
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Determine whether the given value is a solution to the inequality.

19. x2-16; x=-7 20. 0.15<k: k=0.098 |21 c>-4c=-4 22 w2l
"8 16
“1z-1b 0.15640.09¢2 | -4>-Y 9 5
____L-—-
™ ¥
D/yes Q yes a vyes [B/yes
g no @ no @ no Q no
Solve and graph the solution to each inequality.
231454 .9 24, n+2<9
7 -2 -2
07 2% n£
0728 ne&
Pl 1 L L L 1 L . <. 1 L L 1 [l L L =
25 2, 2728 2930 3 ‘:lS'(a"')éﬁ'I'D
25 l_2_p_2]2 26. 21>13+x
\2 12 -13-13
PZI > X
p2| X<¢8 X<g
< 1 L ] [ L L 1 » Pl IQ—I—_;—-'OI 1 ] 1{ ~
-2 101 234 50189 10l
27. 5y>45 28.3%25'3
S 5
y>9 rz |5
N7 r2IS
<@ 1 1 L L L L L - & i L 1 1 L L [ R
b "I é '9 ;o 0 :'2_' |'z. ;'3 ;4 fs: )'b 1'1 ic
29, c+89<102 305 hels 2
-goq -g‘q 3 10
>3
cs1.3 g s
Z 3
C<l.3 h>=
<& L i 1 L { L i L. - [ L 1 ] L L 1 .
-2-1 01234 2101 234
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31. For which inequadilities is 8 a solution?
Check all that apply.

32. Which values are solutions to the
inequality 2.5x < 122 Check all that apply.

Translate the inequality using a variable. DO NOT SOLVE.

33. “The sum of a number and 5 is greater than
23."

Nn+5 > 23

34. “The product of a number and 8 has a
minimum value of 40 "

¥N 240

35. “One-third of a numberis at most 12."”

L

TN £12

36. “15is no less than a number decreased
by 7."

15 >n-7

37. Jason was driving at most 5 mph below the
speed limit. If he was driving 45 mph, which
inequality could be used to find the speed
limit, 12

A. [+5<45
B. /+5245
C.[-45%55

C

D. /-4525

38. Vera spent $60 on a box of chocolate bars
to sell. If she sells the bars for $1.50 each,
which inequality can be used to find the
number of bars she needs to sell, b, to
make a profit?

A. 1.5b <60
B. 1.56>60
C. 1.56<60
D. 1.56260 B

Write an inequality to model the problem using a variable, then solve.

39. It took Darcy two days to drive from
Orlando to Pittsburgh. She drove 595 miles
on the first day and at least 1,020 miles in
total. How many miles did she drive on the

second day? 595 +m 2 1020
595 -595
m z 425
Inequality Solution
mz 425
SA5+m 2 1020 miles

40. Taylor is buying shares of stock that cost
$8 each. How many shares can be buy if
can spend no more than $2502

8S £ 250
2 g
S£31.25
Inequality Solution
S £250 $¢e3ls
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